Osnovi elektronike — Odsek Sl Drugi kolokvijum - 215/2016.

RESENJA

1. a) Kolo se sastoji od dva neinvertujuca pojaavatai jednog sabiraca:

inl:v, = -1V Eél+ %) =-1Vv [EZ+0.01%]

o sabirac: V, =-2v, -2V, = —2(V1 + V2) = 0.0Z%[V]
inv2:v, =1V E€1+—J =2V
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aﬂ:

R\ R v, =V, (t) =10mV +20mV cosat
= (1+ 2—](—) =2
R

3.a) Zp=10Q + j5Q
b) Zp=10Q+ j5Q = R+ jX

Prvi nagin:

S=P+ jQ=VI cosg+ jVI sing=Scos@g+ |[Ssing, P/ S=cosg

P=RO? Q=X0%5Sx=|g/={P*+Q? =1 2JR? + X?
10 _
JRZ+x2 ~100+25

cos@= 0.89

Drugi nacin:

S=ul’=(zpd)l =zpf10’)=2p0* =(Zpe¥)0*

Z
X 1
@ =arctg [E] =arctg (E = 26.5° = cos¢ = 0.89



Osnovi elektronike — Odsek Sl Drugi kolokvijum - 215/2016.

4.a) Uy, =—jaV, Zrn, =2Q
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b) S=1656+ j1104 P =1,656W Q =1104VAr S=199VA

A
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i (t) =1,051A cos(27t + 248,2°)

5.
Za-10V<v;<0,7V: D-OFF,DZ-OFF,v, =0=const.

Za 0,7V <v; <£7,367V: D-ON, DZ -OFF,v,[V]=0,75v;[V] - 0,525
Za 7,367V <v;<10V: D-ON, DZ - proboj, v, =5V = const.
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